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NET T VR (EEER)
$=1:20
A
gl
& [
U \
] 1
1T 8
300
BT T VR GERER) 10. 0m4 v
£ b R % | HfE| % &
avyYY—+ |ock=18N/mm2 | m3 1.00
b4l % INEUREEY) m2 10.0
HEERE RC-40 (t=10cm) | m2 3.00
B iR FEHEE (t=10m) | m2 0.10
(1)
KiE m3 7.4
BR m3 4.2
HEEEE m2 3.0
1.0 Y
2 M- IRE Hi g = B M=
avHl)—k WIERL=56.2m
o ck=18N_~mm2 1.00%5.62 = 5.62 m3 5.6
Bty e WIERL=56.2m
INEVREYE YD 10.0%5.62 = 56.20 m2 56.2
HERR HWERL=56.2m
RC-40 (t=10cm) 3%5.62 = 16.86 m2 17
B #h#t HIERL=56.2m
S Mk (t=10mm) [0.10%5.62 = 0.56 m2 1




NIRRT (BRI ER)

EftEE B = B OEBE £ NO.
ST TR (RITHRR)
$=1:20
A
& EZOO
H
|
gl
50><°"[f
NMET T VR AT EE) 1,054y
& ™ # ®OHEE| & B
£BTOYY (200x200%450 | % 1.0
HEERE RC-40 (t=10cm) | m2 0.075
(1)
KR m3 0.13
BR m3 0.12
HEEEE m2 0.08
1.058Y
2 M- IRE H g = B {1 H =
HE@Jovy
200%200%450 3 = 300 m3 3.0
HERA

RC-40 (t=10cm) 0.075%3.0 = 0.23 m2 0.2




HEAEIIARGLET

EftEE B = B OEBE £ NO.
SAYRHIER o190
n
76.3
‘ 0350
| s SAYILR (Fr—vi8)h—) 1.0
AT TR B T
g B S 4 A9 Y=k ook 1aN/m2 | (0.35°2-7 /4<0.15°2)0.25 | 0.026 | m3
| e BB [NEMEEY | 0.35+0. 256 0.3 | m
34 | HRBE |RO-40(t=100m) | 04572402572 07 | m
“ (+ 1)
| 4 BE 045724075 015 | m
mw'ﬁ ' = B R [0.45°240.60-0.25°240. 10-7 /4+0.10°240.50 | 0.1 | m3
AEBE  |0.2572 0.06 | m
1.0s &Y
2 M- IRE Hi g = B M=
avy)—k B =191@
o ck=18N_~mm2 0.026*19 = 0.49 m3 0.5
itk B =191@
INRIESEY) 0.35%19 = 6.65 m2 6.7
HERA B =191@
RC-40(t=10cm) 0.27%19 = 5.13 m2 5
Fr—2N\Uh—KK (RAEBER R
19 = 19.00 H 19




IRIGIT KR T

EftEE B = B OEBE £ NO.
BISITKBEER o »
No.O No.1+4. 9 No.2+3. 3 No.3+3. 6
600 600 600 600
5Q 300 150 5Q 300 150 5Q 300 159 5Q 300 150
| g 140 L S N lva 74 o [va.1
d g | L8 g | Ll | @ g | L. i
2 g g g T g
2 ©
700 700 700 3 ) 3
700
BIBITKBET 1.0m% Y BIBITKBT 1.0m% Y BT KRT 1.0m% Y BIBITKBT 1.0mH Y
% # iR | B #® 2 % ki3 =) | B #® 2 % ki3 ) | B #® 2 % ki3 =) | B #® 2
aAvy—+ |ock=18N/m2 | m3 0.18 avY )=+ |ock=18N/m2 | m3 0.18 aA9)—F |ock=18N/m2 | m3 0.19 avy)—+F |ock=18N/m2 | m3 0.25
8 # R E m2 1.50 8 # R E m2 1.50 B # NEVHEE m2 1.68 8 # B E m2 2.48
HEHERE RC-40 (t=15cm) | m2 0.70 REERE RC-40 (t=15cm) | m2 0.70 HEERE RC-40 (t=15cm) | m2 0.70 REERE RC-40 (t=15cm) | m2 0.70
BitiR JLBREI0m) | m2 0.18 B iR JLRAE(t=10m) | m2 0.18 Btk JLERKI=10m) | m2 0.19 Btttk JLRAE(=10m) | m2 0.26
(1) (1) (1) (1)
BRIE m3 0.96 FRiE m3 0.96 BRIE m3 0.96 FRiE m3 1.04
#BERE m3 0.59 HR m3 0.59 #BERE m3 0.59 HR m3 0.65
HAEEE m2 0.70 AEEE m2 0.70 RAEEE m2 0.70 AEEE m2 0.70
1.0 Y
2 M- IRE Hi g = B M=
avo)—k AIERL=24.9m+18.4m+20.3m=63.6m
o ck=18N_~mm2 0.18%24.9+(0.18+0.19) /2%18.4+(0.19+0.25) /2%20.3 = 1235 m3 12.4
Eilg = AIERL=24.9m+18.4m+20.3m=63.6m
INEVREYE YD 1.50%24.9+ (1.50+1.68) /2%18.4+(1.68+2.48) /2%20.3 = 108.83 m2 108.8
HERR MIEEL=249m+18.4m+20.3m=63.6m
RC-40 (t=15cm) 0.7%63.6 = 4452 m2 45
B #h#t HIERL=63.6m
I L 34K (t=10mm) [0.18+24.9/10+(0.18+0.19) /2%18.4/10+(0.19+0.25) /2%20.3/10 = 1.24 m2 1




SEEE # = i B £ NO.
EERIG SaE fE Rk S$=1:30

L\

=RE FEEFHEA (13) t=5cm)
754 La— bk (PK-3 1.2L/m2)

B (EEYS v ¥—5 > RC-30 t=15cm)

1.0 Y
2 M- IRE Hi g = B H =
=RET
BAEBHEA(13)  [453+196 = 649.00 m2 649.0
BREET
t=150 453+196 = 649.00 m2 649.0
EfEFY
B-E#HW=015m  [133 = 133.00 m 133
Hit$HTAvy
26 = 26.00 & 26




BEVRET BESRHE

BiHEE 2 i B NO.
1.0 Y
2R Hi =1 = B {1 o=
BEE% & U-300B
40 40.00 m 40.0
aVHY—RRERLS  (BTEF50.055m2
|EEEY 0.055%40.0 2.20 m3 2.2
KB+ D5
#E 7.0% 1 7.00 S 7.0
RELT DS SEFE255kg/148
7.0 X 2.55 17.85 kg 17.9




BREIEVLET HERHE

BiHEE B = F OB £ NO.
1.0 Y
2R Hi =1 = B {1 o=
PCTx A#E H=0.90m
6 6.00 m 6.0




